i e

P40 04 HIERFLES BLRE (0452.4)
1740 13 B A (155.3)
P40 14 B HEE(047.9)
HiPu1 01 PEE (L Hb (43.8)
iUl 02 1 (L E0b (3555.8)
HiPg1 02 B2 (2:51.9)

Hpdl 05 % 5 (3#55.0)
HiPu1 07 1 (L E0b (#£50.0)
g1 07 B2 (1144.4)

a1 11 F52(,53.0)

g1 12 £2(.440.0)

a1 14 HEFE (.459.5)

il 14 B TER B (5647.0)
H1Pu1 14 B E % (#55.0)
a1 15 B22(,040.0)

1 16 B (1049.7)

a1 17 B2 (1,46.4)

il 18 B2 (1441.4)

g1 21 R E R (555.0)
il 21 B2 (1)56.7)

a1 23 5575 (10,51.0)

H1Pu1 23 (LM (44.5)
a1 23 FE 5 (:0,48.8)

a1 23 A B (52.0)
a1 23 B e 2 (1£46.0)
GalEh! 23 9557 (3853.0)
a1 23 FEGEY)E (0,45.0)
GalEh! 23 LR R R 2 (1443.8)
a1 24 B22(,,40.0)

GalEh! 26 FLRE R FLE2 (1456.8)
a1 29 rEE (L E0b (855.1)
thpg1 29 B2 (049.7)

Gah ! 30 B2 (1/57.3)

H1Pu1 31 B (47.9)

a1 32 $52(,0/56.9)

GalEh! 36 B2 (1)53.7)

a1 39 B2(,440.0)

g1 41 8 7 L Zub (35855.9)
a1 41 #52(,,40.0)

thrgl 43 HE (0h47.1)

g1 43 HEHE (1455.9)

RIS 43 SRR ERF L (1056.3)
g2 01 Hi L (1441.3)

f1pg2 01 HEFE (1457.3)

2 01 BB E R (550.0)
a2 03 A B (59.0)
U2 04 B0 (1443.1)

H1Pg2 04 PEE L Hubt (5847.1)
HiPg2 04 JiE F (1456.0)

a2 04 LA 1 (3#£50.0)
HiPg2 04 /% 525 (355.0)
g2 04 TR ER LR (£455.5)
a2 07 52 (.0)41.5)

thpg2 08 HEE (00 49.4)

H1Pg2 08 R B (%55.0)




th a2 08 B2 (040.0)

g2 09 Hi 3 (,0445.8)

g2 09 BEE(42.1)

Hipg2 09 BFERE ER LA (£0055.5)
thpy2 10 FEL()48.7)

g2 10 Hi 3 (,0455.1)

thpy2 10 B (053.1)

g2 11 B2 (10456.1)

g2 11 e AL (5£57.0)
g2 11 7 (10649.3)

g2 11 HOEE (041.4)

thpu2 11 A AL (75£46.0)
g2 11 B (,0440.0)

Hirg2 11 FERER ER L (£0052.3)
g2 12 B2 (155.8)

g2 12 Hr (0451.2)

P2 12 Hi 3 (,0449.9)

Hirg2 12 SRR (051.0)
Hipg2 12 FERE R (051, 7)
g2 13 Bl (10:51.2)

thpg2 13 FEL(142.9)

g2 13 HYFE (1,54.4)

g2 13 2 (2440.0)

Hirg2 13 SRR (.2047.0)
Hipg2 13 FEBE R (£0457.0)
thpy2 13 &R 5w (0455.0)
g2 15 37 (10450.8)

g2 16 Bl (1,55.8)

g2 17 BE(0440.0)

P2 18 HVFE (1)55.5)

g2 19 37 (10459.1)

P2 19 HYFE (1,55.8)

g2 20 Hor (43.7)

P2 20 HPFE (,59.5)

Hipg2 20 Rl EE 5 (#50.0)
g2 22 Bl (1,57.0)

thpg2 22 L (158.1)

g2 22 HEFE(,0456.2)

thpg2 22 2 (,40.0)

thpy2 33 FEE R (058.1)
g2 34 B (0430.0)

g2 35 L (10554.9)

thpg2 35 22 (.0040.0)

g2 36 B (,,48.2)

g2 37 BEE(47.9)

g2 39 BE5(,0,48.9)

g2 41 B2 (141.0)

P2 42 HEFE(,0056.1)

Hipg2 42 FERER ER LS (10052.1)
g2 43 HEFH (1,43.6)

thpg2 43 45555 (#E55.0)
thpy2 43 B2 (.0440.0)

Hipg2 43 FERER ER LS (0051.4)
thpy2 44 S RS (£4.58.5)
g2 45 37 (10h54.8)

thpy2 46 H (0h51.7)




H1PU2 46 B (,40.0)

a2 47 B30 (12/:56.0)

HiPg2 47 HZ (0,49.8)

H1Pg2 47 Rl E R (550.0)
P2 47 FEREHERRLE (£440.1)
g2 48 Hi 3 (0451.8)

H1Pu2 48 H5(,40.0)

U3 03 B2 (2450.0)

th g3 03 HEE(052.1)

13 04 Hi30(£430.0)

13 05 3537 (140.0)

U3 05 R E R (555.0)
13 05 HE2 (140.0)

U3 07 PEES L E b (548.7)
GHEE 07 FL(152.0)

H1Pu3 08 ESC(4453.2)

GRIIEE) 08 P L E b (552.8)
a3 08 30 (1443.0)

H1pu3 08 HEE (1 42.3)

a3 09 317 (££59.0)

i3 10 B (£447.6)

H1Pu3 10 PSR (847 .2)
GRIIEE) 10 B (454.0)

H1pu3 10 HYFE(.0057.7)

i3 10 £ £ (.156.5)

H1Pus3 11 L b (40.0)
A 11 237 (40.0)

f1pg3 11 HhF (2355.1)

H1PU3 11 Rl E S (555.0)
143 11 #%.(1/53.5)

13 12 B2 (2:50.0)

H1Pus3 12 P EE (B HbA (8850.0)
1pu3 12 Hb 2 (,0040.3)

a3 12 FE 5 (1:54.2)

13 12 e (1,40.0)

H1Pus3 12 FEHEY)FE(450.8)
a3 12 SRR EREHEE (0046.4)
13 14 H37 (£444.0)

Hpu3 14 B (\51.1)

a3 15 BB E R (50.0)
H1PU3 17 HZ(2:51.0)

Y3 18 HE2(:50.0)

13 19 Hi 30 (458.0)

U3 20 [0 (1157.6)

13 31 Hi 3 (0451.0)

g3 32 HhHE (1)54.5)

t1ry3 32 #7E2(,0,40.0)

Y3 32 TR (12050.4)
H1Pu3 32 FLREHER R (2057.6)
H1Pd3 33 H2(1142.8)

U3 33 FEHE R (2155.8)
H1Pd3 34 Hi L (0457.0)

U3 35 Hi 3 (.£659.6)

HiPU3 36 B2 (0,43.4)

H1Pu3 36 LY (0056.8)
13 37 BSC(0455.7)




thpy3 37 Hi 3 (:0444.9)

thpy3 37 JFE 55 (1055.0)

tipy3 37 HE2(,0440.0)

H1pg3 37 FEBEI B (41.50.8)
thpu3 38 FEE(051.3)

g3 39 37 (10450.0)

tipy3 39 Hi 3 (,0459.1)

t1pg3 39 B2 (.0440.0)

$1py3 39 L R (£054.8)
g3 41 Hi 37 (10451.0)

H1pu3 41 B2 (1154.0)

H1pg3 43 e L0 (£50.0)
thpu3 43 53 (1,56.0)

f1pg3 43 HF(1)57.3)

thpu3 43 HE2(1,46.5)

thpu3 47 B ()51.1)

th g3 48 e S L 30b (851.6)
f1pg3 48 HYFE(1,48.7)

thpu3 48 HEE(1049.9)

H1rg3 48 LI ERFLEE (41.55.8)
thpu3 50 HE2 (140.0)

U4 01 7 (47.0)

th U4 03 BR S (4,49.9)

U4 03 7 (1,58.0)

thpy4 04 4555 (#5E56.0)
thpy4 04 #52(,48.8)

Y4 05 37 (10452.0)

thpy4 06 BE(NAT.T)

Hrry4 06 FERREY)HE (0451.7)
thpy4 06 FEE RS (£054.8)
Y4 07 37 (10445.0)

thpy4 07 #52(,53.8)

Hrry4 07 SRR (0457.9)
thpy4 08 B 57 (10458.2)

Y4 08 37 (10646.0)

thpy4 08 #52(1,48.6)

th U4 09 HEE (48.3)

thpy4 09 FEREY)HH (1,58.5)
Hiry4 09 SRR ERRLEE (41.52.0)
thpy4 10 7 (0451.0)

Hiry4 10 B (043.1)

thpy4 11 B2 (12,59.6)

g4 11 BEE(10440.9)

thpy4 11 FEREYIER (1054.3)

th g4 12 HEE(044.9)

th a4 15 7 (10440.0)

thpy4 15 HbEE (1,40.0)

thpy4 15 R EE 5 (852.0)
g4 15 22 (.0040.0)

thpy4 15 FEEY)EE (.440.0)
Hiry4 15 FEBEERRLEE (4045.9)
i U4 17 HEE (2054.0)

a4 17 FLEY) 3 (10045.4)
thpy4 17 S R (£052.8)
thpy4 18 L (0447.1)

thpy4 32 B2 (.0440.8)




i g4 32 FLEEYEE (0,50.4)
g4 34 B2 (10056.4)

g4 34 B2 (,40.0)

g4 35 Hi7 (10641.0)

th /a4 35 HE2 (140.0)

b4 35 FLREYEE (10042.3)

th /a4 36 2 (140.0)

thpu4 36 FerEEE (10450.5)
g4 36 EEERELEE (010 54.7)
g4 37 37 (10454.0)

g4 37 I (1042.6)

g4 38 37 (10454.0)

thpg4 38 HEE(52.1)

i pu4 39 B (AT .4)

g4 40 B (044.9)

Hrry4 40 FLEYIE (0047.2)
g4 40 EE IR (1054.6)
g4 43 HYFE (1,50.0)

th U4 43 JFE 5 (:£4.56.4)

U4 43 2 (1,52.8)

Y4 43 FLREYE (,0455.7)
Hrry4 43 FEBE IR (052.7)
thpu4 45 Hi 3 (,0456.0)

Hrry4 45 FLEYE (0.54.3)
thpy4 45 FETE ERLEE (0 56.7)
thpy4 46 B2 (1,53.5)

g4 46 e S L3 (8856.1)
thpu4 47 FLEY L (100.56.7)
Y4 49 37 (10456.0)

thpu4 49 JFE 52 (057.0)

th U4 50 HEE (1049.6)

thpu4 50 LY (10,.58.5)
thrg4 51 J7E 5 (10256.4)

thpy4 51 #22(,,40.0)

104 51 FLREYIEL(0:51.0)
thpy4 52 #2(1,53.6)

a4 52 AR (2045.1)
g5 03 #59(,0,53.9)

thpus 05 Hir (1,58.4)

g5 05 JFE 5 (,456.0)

thpus 06 {7 (10454.0)

g5 06 Hor (0441.8)

thpus 06 Hi 35 (:0454.8)

g5 06 #55(,0,59.3)

H1pg5 06 EHEY(0447.4)
thpy5 06 SRR EE (£0.56.5)
th g5 08 JFE 5 (152.0)

thpy5 08 AR 1 (3242.0)
thpu5 08 B (0052.0)

thpy5 09 H7 (10446.5)

thpus 09 Hi B (:0440.3)

thpy5 09 B2 (.0450.0)

H1pg5 09 EEYI(0442.2)
thpy5 09 SR R (0052, 7)
t1py5 10 B2 (.0440.0)

th U5 10 FLTEY)HE (044.2)




g5 11 FLHEY)3 (.£,.58.6)
g5 12 B2 (12450.0)

th g5 12 o EE S B (5859.7)
g5 12 37 (10h51.5)

thpu5 12 HEE (1049.4)

g5 12 B2 (.0440.0)

thpu5 14 B2 (10453.7)

H1g5 14 HrEE S L (851.5)
thpu5 14 Hi3r (1046.9)

thpy5 14 JFE 55 (1053.0)

thpu5 14 22 (040.0)

H s 14 FERE Y (12 44.6)
thpu5 16 FL L (57.3)

t1pg5 16 HYFE (1,58.6)

thpu5 16 HEE(1143.6)

H1g5 16 SRR (2047.5)
thpu5 17 RS (1/45.8)

H1g5 17 HrEE S L0 (5£43.3)
thpu5 17 HEE (1046.4)

H1g5 17 JFE 52 (2447 .8)

thpu5 17 22 (1054.9)

th U5 17 ERErE (10,.54.8)

th g5 17 A R HIt 7 (04.52.6)
t1pg5 18 B0 52 (10450.4)

th g5 18 HrEE ST AL (8246.9)
g5 18 H7 (1,43.6)

thpu5 18 HEE (045.4)

thpu5 18 JFE 5B (049.8)

thpu5 18 B2 (42.7)

thpu5 18 FLEY L (10,48.4)
thpu5 19 HEE(154.0)

g5 31 2 (1,52.0)

thpu5 32 R EE 5 (5£56.0)
thpU5 34 HF(1,57.3)

thpu5 34 5 (0453.0)

thpu5 34 FLEY L (100.52.6)

th g5 35 BH 5L (154.5)

thpy5 35 T AL (549.2)
thpus 35 HIEE (1044.7)

g5 35 JFE o (,451.1)

th g5 35 B2 (.0040.0)

thpy5 35 FEREYEE (1049.1)
H1pg5 35 A R HIt g (0457.3)
g5 39 7 (0451.5)

thpy5 39 2 (1,.56.8)

thpy5 40 T AL (5852.2)
thpus 43 B2 (12450.1)

thpy5 43 T AL (1548.9)
thpU5 43 H EE (1055.5)

thpy5 43 7 5 (.0450.7)

g5 43 B2 (,0440.0)

thpy5 43 FLHEY)EE (2047.3)
H1pg5 43 A R Et g (0452.8)
thpu5 46 22 (1140.0)

H1pg5 46 FLHE Y (.0440.0)
thpy5 48 B2 (12,55.9)




thpus5 48 B2 (1458.0)

H s 48 FERREYH (00 55.1)
U6 01 FLBE A1) (£043.0)
t1pU6 01 37 (10648.0)

U6 01 HEE (0441.2)

thpu6 01 JFE 55 (1055.0)

thpu6 01 B2 (040.0)

H1u6 01 LA (056.3)
U6 02 7 (10451.0)

P06 03 B2 (12457.0)

H1ru6 03 HrEE AL (551.6)
t1pU6 03 37 (10454.0)

thru6 04 ELbfE Y (10450.4)
106 04 B (1,58.0)

thpu6 04 HrEE S AL (3854.7)
1706 04 7 (10440.0)

U6 04 HiFE (1,51.8)

thpu6 04 Jf& 52 (£452.0)

th /U6 06 L3 (£449.0)

1706 06 HFE(1,57.8)

thpu6 06 2 (50.2)

1706 07 7 (0445.0)

U6 07 HiFE (,57.6)

thpu6 07 JF& 52 (.£455.0)

U6 07 B2 (,0440.0)

thpu6 07 FLE LA (0052.7)

th /U6 08 RS (:£456.0)

U6 08 H7 (0649.0)

H1u6 09 LB A1) (£445.0)
U6 09 B (12,51.0)

H1u6 09 HrEE AL (546.9)
U6 09 537 (10440.0)

106 09 Hi 3 (,0449.9)

U6 09 ¥E5(,0,40.0)

H1u6 09 FEE L2 (£455.2)
thpu6 10 LAY (10045.4)

th U6 10 RS (1£453.0)

U6 10 e AL (5£58.6)
106 10 Ho7 (10h47.0)

U6 10 HYFE(.0047.7)

th U6 10 JFE 5 (.4.55.0)

U6 13 B AEY) (£057.4)
106 13 HF (:0442.3)

U6 13 #E2(,0,40.0)

th g6 13 SR (10045.7)
U6 15 HrEE AL (5£57.6)
106 16 B2 (10459.0)

U6 16 L (10,54.0)

thru6 16 B (051.7)

U6 16 &R S (0054.0)
thpu6 17 45555 (#E55.0)
U6 19 LAY (£4.53.8)
U6 19 H 3 (,0457.0)

) 19 45 FEEE(7£55.0)
U6 19 B2 (.0440.0)

U6 19 B L5 (1045.6)




U6 20 Hi 3 (.0455.4)
P06 20 B (0447.3)

U6 20 FHEALE(052.9)

H a6 21 LAY (10050.2)
U6 21 FitT—(1448.0)

P06 21 HI B (,0448.7)

U6 21 77 57 (10455.0)

H1u6 21 B 5 (5£54.0)
U6 21 B2 (10446.1)

H1u6 21 FEHEALEE(0053.4)
thpu6 21 &AL Em (0443.0)
t1pU6 32 Hi B (:0445.4)

U6 32 B (,0440.0)

H1d6 32 FEHEALEE(450.9)
U6 33 Hi 3 (,0445.5)

1706 33 #E2(,0,50.0)

U6 36 H 3 (,0457.8)

106 36 #52(,0,53.0)

thpu6 37 L3 (151.0)

thpu6 37 JfE 52 (£457.0)

U6 37 B (,0440.0)

H1d6 37 FEHEALE(057.4)

th /U6 38 RS (1£459.0)

H1d6 38 Hr g L0 (£54.5)
th /U6 38 FL3L(0444.0)

U6 38 R (57.7)

th /U6 38 e (1,40.0)

thpu6 38 FEfE LR (1046.1)
U6 39 AEAEY)(1044.4)
U6 39 Bl (1,52.0)

H1u6 39 HrEE AL (5£54.9)
U6 39 HEFE (1,50.9)

th /U6 39 JFE 52 (:£4.53.0)

U6 39 ¥E5(,0,40.0)

thpu6 44 R EE 5 (5254.0)
U6 47 H37 (0054.0)

106 47 B (10446.3)

U6 48 BB AP (@057.2)
106 49 37 (10446.0)

U6 49 HYFE(.0A47.6)

th U6 49 JFE 5 (.24.56.0)

U6 49 Az 5556 (£55.0)

th U6 49 2 (,40.0)

g7 10 B L (157.4)

g7 10 37 (10440.0)

g7 12 3 (10,40.0)

g7 15 Hi 35 (:0453.6)

g7 17 B 7 (1,58.1)

Hipg7 17 HrEE ST L3 (8£59.6)
thpg7 17 HIFE (.0457.0)

thpy7 17 JFE 55 (1055.5)

thpy7 21 g AL (5£58.6)
thpg7 21 Hi7 (10442.0)

g7 23 HFE (:0459.9)

thpg7 32 7 (10648.0)

thpu8 02 FEBEAEY) (£440.1)




tpu8 02 B 57 (10445.6)
H1pu8 02 Hr e S L0 (£40.9)
tfpus 02 FtfE (L2 (1/48.8)
Hru8 03 FEE Y (0047.8)
tpy8 03 B S7 (10641.3)
H1pu8 03 HrEE S L (42.5)
tpy8 03 37 (106440.0)
thpus 03 Hi 35 (,0455.5)
tpy8 03 J7 55 (10450.2)
Hru8 04 LAY (0050.1)
tpy8 04 37 (106440.0)
thpus 04 HE (:0450.7)
thru8 04 AL (51.2)
H1u8 06 FEEAEY) (049.4)
thpu8 06 RS (1£/58.4)
g8 06 7 (10446.0)
H1pu8 06 BEE 5 (15£46.0)
H1u8 06 FEHEALEE(053.8)
thpu8 07 A5 EEE(#5E55.0)
g8 07 BB (,0,57.3)
H1pu8 08 ELHEAEY) (047.4)
g8 08 B (10,44.7)
H1pu8 08 o EE S AL (5857 .4)
g8 08 7 (0445.0)
H1pu8 08 B s (15E44.0)
thpus 08 FLE LR (0052.4)
U8 09 37 (10450.0)
U8 09 B (3853.0)
H1pu8 09 SEHEABEE(W5T7.2)
U8 10 B (12,51.0)
thpu8 10 HrEE ST L3 (8855.3)
U8 10 537 (10440.0)
U8 10 Hi 3 (,0446.8)
thru8 10 JfE 52 (1£452.3)
thpu8 10 BEP 5 (15£40.0)
thpus 10 Lt LR (0055.1)
thpug 13 BR S (h57.7)
U8 13 7 (10,45.0)
thpus 13 HEE (53.6)
trpu8 14 7 (10,40.0)
thpu8 15 B2 (£444.0)
H1pg8 16 LA ) (£455.9)
g8 16 B (10057.9)
thpu8 16 e L0 (£50.6)
g8 16 Hir (042.0)
thpU8 16 HEFE(,0056.1)
t1pu8 16 JEE S (1157 .4)
thpu8 16 B LS (158.6)
i g8 17 FLbfE LY (0455.4)
U8 17 B2 (1,51.0)
U8 17 Hi7 (10447.0)
U8 17 HIFE (0454.1)
thpus 17 JFE 55 (1)56.5)
thpu8 19 H (104632.0)
t1pU8 19 H22(,0436.5)
thpus 21 A 5 F5EE (8855.0)




thpug 32 B (0444.2)

i pys 32 FE L2 (155.6)
thyu8 33 RS (,55.0)
thpus 33 Hir (1,48.0)
tipy8 33 JfE 5 (1052.6)
thpus 34 HEE(1043.1)
tipy8 36 Hi37 (1058.0)
thpus 36 HEE(043.1)
Hpus 36 EbfE LR (0057.9)
thrug 37 FERE AR (1051.8)
thpug 37 H (10647.0)
thpus 37 HE2(1)45.5)
thpu8 37 AL (151.4)
trys 39 JE 5 (057.1)
thpU8 40 B2 (10045.0)
thpy8 40 FEEE(050.7)
thpys 41 HE2(1049.6)

th U8 42 HF(57.1)
thpys 42 L (0452.2)

th U8 43 7 (0451.0)
thpys 44 HE2(150.3)

th U8 45 37 (10456.0)
thpug 45 B (A57.7)

th U8 46 7 (10449.0)
thpu8 46 HHEEE(1)56.6)
th U8 48 FwEA Y (12448.1)
th U8 48 RS (,58.0)

th a8 48 537 (10456.0)
thpy8 48 HEE (1057.0)
thpu8 48 B85 (7%£58.0)
U8 48 FEHEABEE(W052.7)
th a8 49 537 (10458.0)
thpug 49 B (0451.3)
thpu9 01 LAY (10051.0)
th g9 01 HE2(1)43.5)
thpg9 02 Lt L2 (10).56.6)
th g9 04 FEE Y (0054.1)
th /g9 04 B (1)53.3)
thpy9 04 HrEE S L E (8554.4)
th /g9 04 H (10,47.0)

th g9 04 HF (:0453.0)

th /g9 04 % 5 (10,56.5)

th g9 06 Hr (052.0)

th /g9 06 BE(,,50.2)
AL 06 FHEEE2(2)56.4)
th /g9 07 B (1354.7)
AL 08 FEA4 ) (10,.55.8)
REITe) 08 HEFE(,0455.0)
AL 08 EE L (W057.7)
thpy9 09 BB (057.5)
tpy9 10 {7 (10450.0)
thpu9 10 o EE S B0 (5853.9)
tpy9 10 Hr (053.0)
tFpy9 11 B2 (12,55.0)
thpy9 11 JFE 55 (1056.3)
thpy9 11 FEHEALE(154.8)




thpu9 13 L (£457.0)

H a9 14 FLE Y (0052.5)
g9 14 B2 (10454.8)

H1pg9 14 HrEE L0 (3851.1)
thpy9 14 HEE (047.0)

g9 15 B2 (12450.8)

thpu9 15 HrEE AL (551.4)
g9 15 B (0646.1)

g9 16 7 (106449.0)

H a9 17 Bt Y (10055.9)
g9 17 HrEE AL (5£52.2)
g9 18 B2 (,0445.8)

thpu9 20 XS (451.6)

H1rg9 20 HrEE LU (546.2)
thpu9 20 L3 (2443.0)

109 20 HYFE (1,58.0)

g9 34 B (10450.2)

109 35 L7 (10440.0)

g9 35 H 3 (:0453.0)

109 35 B2 (,0,40.7)

H1pg9 36 R EE R (#£50.0)
H1rg9 36 FEHEALE(057.4)

th a9 40 FEEAEY)(0.57.2)
109 40 HPFE (1,50.0)

thpy9 43 HEE(51.9)

thpU9 44 HIFE (,54.0)

thpu9 46 RS (1£453.8)

g9 46 TP EE AL b (3854.9)
thpu9 46 JFE 52 (:4.54.6)

thpu9 50 FLEE Y (w0057.7)
g9 50 Hi 35 (:0450.0)

tHPg10 01 HYFE (1)44.8)

thpg10 01 A& 526 (75£55.0)
thpg10 01 FEfE LR (0053.4)
H1ry10 01 & EH I ER (452.0)
thp010 02 A EZEEE(7£55.0)
t1pg10 02 HEE(043.1)

tpg10 03 7 (10535.8)

H1ry10 04 FEHEAEY) (10041.0)
t1pg10 04 B L (1,47.5)

t1pg10 04 i (10443.3)

t1pg10 04 B (,,42.0)

t1pg10 05 Hoy (hAT7.7)

g 10 05 Pl B 5 (8255, 0)
t1py10 06 B2 (55.5)

t1pg10 07 B 7 (1,56.1)

t1pg10 07 BE(0451.9)

g 10 08 LA ) (£450.2)
t1pg10 08 Hir (046.1)

thpy10 08 BEE(0440.1)

tHpg10 09 7 (10448.5)

thpy10 09 B2 (.0440.0)

H1rg10 09 SRR LEE(0055.9)
tpg10 12 B AEY) (£057.9)
t1pg10 12 B2 (10443.8)

tHPg10 15 HFE (:0459.1)




tpg10 15 B (,0452.1)
HPh10 17 BtV (10450.0)
thpg10 17 22 (1,48.8)
H1rg10 17 E R Em (0452.0)
thpg10 18 37 (10655.9)
t1pg10 18 HE (.0452.0)
thpg10 19 H (10649.1)
t1pg10 20 B2 (0430.0)
thpg10 31 B2 (0441.0)
H1rg10 31 FEE{LE2 (156.5)
thpg10 32 22 (1,40.0)
t1pg10 33 B2 (10456.1)
tpg10 33 HEFE (045.1)
t1pg10 33 B2 (,0,53.7)
t1pg10 34 R (0447.1)
t1pg10 35 #53(,0,35.8)

th P10 37 B2 (,0054.2)
t1pg10 38 7 (0647.6)
thpy10 39 HE2 (1055.8)
HPh10 40 FLHfE A V) (10,48.0)
H1py10 40 EbfE L2 (053.3)
HPh10 43 FLtfE A Y (104.50.0)
thpy10 43 RS (1,48.8)
t1pg10 43 Hr (0643.4)
tpg10 43 HEFE (1,44.8)
thpg10 43 Lt L2 (0050.8)
t1pg10 45 BEE (0451.4)
t1pg10 46 ¥E5(,0,40.0)
H1ry10 46 FEREALEE (053.3)
tHPg10 48 HFE(1,54.7)
FHpU10 49 Hi 35 (,0459.6)
t1pg10 49 ¥E5(,0,40.0)
H1ry10 49 FEREALE2 (455.3)
g1l 01 Bl (1,52.0)
Hrpg1l 01 e ST L3 (8855.1)
g1l 01 537 (10440.0)
P11 02 Ho7 (10444.0)
g1l 03 B (,0052.9)
thpy11 04 B2 (045.7)
g1l 05 BE(,0,52.6)
thpg11 06 737 (10453.0)
g1l 07 3 (10,40.0)
Hpgl1l 07 Pl B 5 (15£55.0)
g1l 09 B (151.0)
thpy11 09 2 (50.7)
thpg1l 10 B AEY) (£052.9)
P11 10 B2 (10456.0)
thpg11 10 o EE S B (556.1)
thpg11 10 557 (1,45.0)
thpg11 10 H 35 (.0455.8)
g1l 10 B (10443.6)
g1l 10 BB LS (057.0)
a1l 11 FEHE Y (100.53.0)
g1l 11 B (152.0)
g1l 11 37 (10440.0)
thpg11 11 HEFE (.0452.2)




g1l 11 FEHEALE(453.0)
g1l 13 B2 (.0440.0)
g1l 14 BEREA 1) (455.8)
Hpg1l 14 e L0 (8£50.6)
P11 14 37 (10456.0)
g1l 14 Hi B (,0456.2)
g1l 14 A5 FEE (E55.0)
g1l 14 B2 (.0440.0)
g1l 15 537 (2040.0)
Hpg1l 15 FEHEALEE(057.8)
g1l 16 5 (.2146.0)
g1l 17 37 (10440.0)
thpy11 17 HiFE (,57.8)
Hrpg1l 21 Hr 8 S L0 (£53.6)
Hrpg1l 22 e S L 0b (5£55..8)
g1l 22 7 (10440.0)
thpg11 22 HEF (.0442.5)
chpg11 22 Jf& 52 (£455.0)
g1l 22 BEE(0442.1)
a1l 22 FLE LR (1048.4)
Hrpg1l 23 FLE A1) (£451.8)
g1l 23 HFE(52.7)
thpg11 25 2 (1,56.0)
g1l 26 #E2(,0,40.0)
thpg11 26 AL (12159.6)
g1l 27 ¥E5(,0,40.0)
P11 28 37 (10453.0)
g1l 31 B (1,.52.4)
thpu11 33 RS (:£455.0)
g1l 33 Hr (0441.0)
thpy11 33 B2 (55.1)
g1l 34 Bl (1,51.0)
Hrpg1l 34 HrEE AL 30 (5£50.0)
g1l 34 537 (10440.0)
P11 34 HF (:0440.4)
thpg11 34 Jf& 52 (.£450.0)
thpy11 34 FEE LR (10054.9)
g1l 35 B AEY) (441.0)
g1l 35 B2 (10452.0)
thpg11 35 HrEE S B (5£58.2)
thpy11 35 LR (10046.4)
g1l 36 3 (10,54.0)
g1l 38 Hor (41.0)
thpg11 38 HYFE(.0A47.6)
Hpgl1l 38 FEHEALER(WAST.7)
thpg1l 39 B AEY) (£054.2)
thpg11 39 537 (1040.0)
thpg11 39 HYFE(.0057.4)
thpy11 39 2 (1,46.0)
thpy1l 39 BB (057.3)
g1l 40 37 (10450.0)
g1l 41 BEE (0450.1)
Hpg1l 41 FEHEALEE(W057.5)
g1l 42 H7 (10453.0)
g1l 43 37 (10456.0)
fu12(#s) |01 HEE (£447.6)




ru12(fG) [03 R (AT.2)
PrY12(8G) |04 RS (455.7)
hPu12(HG) [04 F 3 (,40.0)
P12(5) [05 22 (139.0)
tu12(#5) |06 B S (057.3)
12(5) [06 JE3Z(,56.0)
hPu12(fG) [07 $22(,40.0)
fr12(5) [09 22 (1)36.4)
thu12(8%) (14 $22(,40.0)
12(85) [16 22 (1140.0)
ru12(hG) [17 F 3 ()40.0)
dhpg12(s) [17 1 EE (,56.0)
tru12(8s) |17 AR (5240.0)
thru12(85) |17 FEBEY) 3 (£0447.0)
tru12(8e) |17 BERREHD BRELE (1£0046.9)
HipO13(%) |04 37 (0440.0)
hu13(HG) [04 (LA (1049.0)
FrY13(#E) |05 LAY (10050.9)
hPa13(fG) [05 B 5L (.458.0)
rr13(EE) [05 FERELEE (1047.9)
hu13(fG) [06 22 (1140.0)
HrU13(HS) |07 FEEAEY) (057.3)
hPu13(kG) [07 B 5L (:450.0)
tipg13(as) |07 Hr (0647.0)
tru13(#e) |07 AR (5240.0)
rr13(EG) [07 FERE(LE2 (1144.8)
hPu13(kG) [08 HEE(1154.9)
frr13(EE) [09 FEREA ) (0452.1)
hPu13(ks) [09 JL(1154.0)
PrU13(HE) |09 AR (3£50.0)
hPu13(ks) [09 B 22 ()55.6)
hO13(EE) [10 FEEA ) (451.6)
fhPu13(s) [10 B 5L (.458.0)
Fip013(EE) [10 37 (0450.0)
pg13(EE) [10 HEFE (1,40.0)
PrH13(Ee) [10 5 (.440.0)
ru13(He) |12 FEREAY)(452.0)
Fip013(EE) [12 #E(,,51.0)
u13(HE) |12 FERELEE (052.9)
Fip013(EE) [13 #7E2(,0,59.8)
hu13(EE) (14 HEE () 43.1)
rr13(KG) [16 BB (2057.0)
hPu13(kG) [16 JE(43.0)
F17013(5E) [16 HF (,2,55.0)
hPu13(kG) [16 22 (1140.0)
r13(EG) [16 FERE(LE2 (146.0)




